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1.

Which number will come in the place of
Question mark ?

8,12,9,13,10,14,7?

(A) 10 (B) 15

(€) 11 (D) 16

Which of the following input device is used to
convert a document into an electronic format
and it can be stored on the disk ?

(A) Printer (B) Plotter
(C) Scanner (D) Projector

Who is the current President of Indian
Weightlifting Federation ?

(A) Bajrang Punia (B) Anand Gowda
(C) Sahdev Yadav (D) Santosh Yadav

Which of the following Courts have the power
to issue writs for the enforcement of the
Fundamental Rights in the Country ?

(A) Supreme Court [-}n:?j
(B) High Court ?5:.4?5
(C) Both (A) and (B)

(D) None of the above

Indian System of Medicine (ISM) includes

systems.
(A) Five (B) Six
(C) Three (D) Ten

Whil:hletterintheworl:l‘SELFRIGHTEOUSNESS'
does not change its position when the letters
are reversed ?

(B) G

AT
EC} H (D) E

In how many years will a sum of

money double itself at 61% simple
interest per annum ?

(A) 24 years
(C) 12 years

Of the 84 pare
a school, 35 vo
during the sch
both to superv
and to bring ref

(B) 20 years
(D) 16 years

nts who attended a meeting at
lunteered to supervise children
ool picnic and 11 volunteered
ise children during the picnic
reshments to the picnic. If the

number of parents who volunteered to bring
mf':;shmenfs was 1.5 times the number of
parents who neither volunteered to supervise
children during the picnic nor volunteered to
bring refreshments, how many of the parents
volunteered to bring refreshments ?

(A) 25 (B) 36

(C) 42 (D) 45
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gxample for Baby AT Motherboard

9.

(A) Pentium | (B} Pentium I

(C) Pentium Il (D) Pentium MMX
10. The process of cleaning dirty money with the

objective of hiding its source and enabling it to

be used later in a legal form is
(A) Smuggling (8) Black money

(C) Demonetization (D) Money laundering

11. Which bankruptcy law of India
seeks to consolidate the existing
framework by creating a single law
for insolvency and bankruptcy ?
(A) The Bankruptcy Code, 2020
(8) The Insolvency Code, 2020
(C) The Insolvency and Bankruptcy Rule, 2021
(D) The Insolvency and Bankruptcy Code, 2016

In which year did the Ancient Olympic Games

12.
begin ?
(A) 756 BCE (B) 765 BCE
(C) 776 BCE (D) 782 BCE
13. In the Olympic games, the flags of 6 nations

were flown on the masts in the following way :
The flag of America was to the left of Indian
Tricolour and to the right of the flag of France.
n The flag of Australia was on the right of Indian
"‘-’S- flag but to the left of the flag of Japan, which
Y _ was to the left of the flag of Canada.

Find the two flags which are in the centre.
v —— J#0 (A) America and India

} (B) Japan and Australia

x4 (C) America and Australia

(; o % 4 (D) India and Australia

7 14, Which of the following does not represent
'F'ia‘ - electrical power in a circuit ?
7! (A) R (B) IR?
VZ
) v (D) —

15. Find the missing number.

(A) 11
(C) 13

(B) 17
(D) 19
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(9. ) %l v, &, waend & 3amon §
(A) Hfam | (B) e g
(€) vileam (D) "f2an pmmx

filser b % aveer 714 v FIGE UT“-T IR

10+
30 WA A i w1 ey e ke a
a1k e sren ® 7
(A) Tl (B) #ren v
(€) Pyt (D) uh &ffzn
Feanferan st anvm stemen & few v f Fe

11.
< % W = Y -an Ranfean A &4 #

wafeRa w8 7 s

(A) feanferan wfean, 2020

(B) 9118 3A%en wigar, 2020

(c) fearfern va wia= svaman fam, 2021

(D) fearfern ug s sewer 5741, 2016

12" Wi e el 1 3 e ad gan 7
e (A) 756 £.1. (8) 765%.9.

E’ﬁ (C) 776 3.9, (D) 782%.4.
yaﬂéﬁﬁ@ﬁﬁ 6 T ¥ w2 Frerferfian 7t 2

mﬁuﬁtﬁ%mﬁaﬂ:m%mﬁ%aﬂaﬂﬁm
=1 &1 HECAT T | 1 FE, WRA F
fggﬂa‘fﬁqmﬁ; w2 F Al 8, S TS
|
IR TR T, A FRHE K
(A) srif 3 wrE E'B‘@J
(B) ST 3 e feran ,
(C) iR sreferm m
(D) vt aft wieferm
. Pefufe i de-mwhed ERIT AT
farggm wife ) el awrfen ?
(A) IR () IR?
Vl
(c) vi D) —
15. Wmmﬁl
(A) 11 (B) 17
(€) 13 (D) 19
A
Vi = 1R
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16.  Which of the following connects a PC to a 16,
loystick ? -'fi'l%rll L 8.5
(A) Modem (B) Cthernet port (A) Uy (B) %42 i .
(C) Game port (D) DVI port (C) M ard (D) 8.3,
17.  Toenhance the financial inclusion, the Reserve 17. oy s =) EFWI # ferm wrief1a frod 1
Bank of India has undertaken a project titled foar afraprsrn @1 s fopan 8 7
(A) Project Financial Literacy (A) Wit wrgAfaae fezd DGE
(B) Project Financial Tandrum (B) WSt wrgA e i A Ej
(C) Project Finance and Audit (C) Stz wrgtE B Hife2 T
(D) Project Literature (D) WSz fereten
18. How many times will the minute hand }p’ 24 %21 1 fopert ot va = i g of 92 avh
and the hour hand of a clock be at right q§ w9 gnfl 7
angles in 24 hours ?
(A) 12 (B) 24 &g (A) 12 (B) 24
(C) 44 (D) 48 i (C) 44 (D) 48
19. Magnitude of drift velocity per unit electric fieldis | a8, awrars am st amé foreg a =1 afmmor 2
(A) Current density (B) Current (A) ﬁgaﬂfﬂ’a (8) ﬁrﬂﬁ L
(C) Resistivity (D) Mobility (C) wferirerara (D) wiferefieran
20. World’s most problematic aquatic weed is 20. fava i waifus FaenEd s=ig s 2 d
(A) Pistia (B) Lantana () fafen B) Fem T R
(C) Eichhornia crassipes (D) Cactus (C) it wfers (D) ¥¥eH M
21. Five boys took part in a race. Ram finished . e TEF uw A Fum AR E |, g v
before Mohan but behind Gopal. Vijay { UES WY T & NS A gure w=an
finished before Sailesh but behind Mohan. ¥ o, Ao A v g e Hwy
Who won the race ? : AT Fdl @ | e A ?
(A) Ram (B) Gopal (A) TH (8) TS
(C) Mohan (D) Vijay  (0) W () farm
22.  Which of the following is not a secondary 22, Prfofes # @ - w fidtas
storage device ? WErYl feamgm i & 7
(A) Floppy disk (B) Hard disk (A) Tt fwn (8) & fo
(C) Tape drive (D) Register (C) 9 grza (D) PRz
23, means a system of a secure key | 23, 1 39 R, v g Ft gm
pair consisting of a private key for creating a ueh et fored Rfveet eeanar w9R & R o
digital signature and a public key to verify the fsft goft ol fefes exanen ) wafis =t %
digital signature. forg weh wrelefaen sl mfdver @
(A) Symmetric Crypto System (A) Tt ke feree
(B) Asymmetric Crypto System (B) v frd) fRrem
‘:l_ Symmetric Encryption System (€) wwfia ufFhem fiyey
(D) Symmetric Decryption System (D) wfiv fefrwm fven
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24, Adice s thrown 3 times and its 3 positions are 24, v qlq @) 3 e e e ® s 3aef) 3 feufae
- given. At § |

. —l i g

0N @ = LI N AN DA i

ij e | o 5 w\l'*1 \" V] 1‘[ ¢ ‘ b
3 i A - 10 T

e r .h-
Which symbol is opposite to 'I' ? Fg 37

(A) § (B) (A) $ (B) o
€@ () 6 (€) @ (D) 6
35 Who among the following is considered as 25, famfeafin 4 5 B e d wifef fbam
the Father of Ecology in India ? ST % &9 8 ST S8
~<JA) Dr. Swaminathan  (B) Charles Darwin (A) &1, w@rdfgd (B) =Ted =T
C] Ramdeo Misra (D) S. L. Bahuguna (C) e fuan (D) TA. UH. FEm
26. Which of the following Ministries has _ 26, frfeifias 6 @ -2 werera 3 oo
launched Tree Plantation Campaign afiar e sheE-2021"" #RY
“Vriksharopan Abhiyan - 2021" ? fFm e ?
(A) Ministry of Coal (A) e HATE _
(B) Ministry of New and Renewable Energy (B) 71 va Tl el waTe
(C) Ministry of Forest and Climate Change (C) g ud WH%;I&HF[’JW
(D) None of the above (D) Ivtr # | =g 7l
27.  ‘Which of the following is called as ‘Golden Fibre' ? | 27, Ta=fafiaa o & fora ez wa’ Feraman 2 7
(A) Cotton (B) Silk (A) TH (B) Tr9
(C) Jute (D) None of the above (C) (D) 39 & & = 7
o g o o # . e, o S
' Anhyd-AlCl, /cucl . 0 E 28 |« Y TAnhyd-aic,/cuc '
(A) Phenol (B) Benzoic acid (A) FoTet (8) iy 30t
(C) Chlorobenzene (D) Benzaldehyde (C) FeTrarsft (D) FHfeEede
29. In a queue of children, Kashish is fifth from the 29- a1 & v ufaw # s ad J gi=wa g
leftand Mona is sixth from the right. When they and @ 93 T W R | 54 3 9E § T a8 ol
:;te;rl;}ange their places among themselves, £, @ wfiw and @ deed @ weht ® | T Tﬂm:m
shish becomes thirteenth from the left. Then, w4 g A -8 w7 :
what will be Mona’s position from the right ? o o --——~—"5t
(A) 4™ (B) 8" (A) 4 (B) 8 2
(C) 14% (D) 15" (€) 14 af (o) 153t "M 4
30. RISC stands for W, g, ww, #i. w nee @ &
(A) Risk Induced Set Computer (A) fe e ﬂzﬁ?‘m
(B) Reduced Instruction Set Computer (B) 198 5‘3“‘33 : I
(C) Risk Instruction Set Computer (C) f’fﬁﬁﬁ’ﬂ‘“ A
(D) Reduced Inductive Set Computer (D) {=ee geffed e HIH
E2 N :fh: among the following Is called as the 31 m@ A ford vl Pt 1 e
rchitect of Indian Planning ? N A
(A) Prasanta Chandra Mahalanobls (A) I SR HETEIE
(B) Samarendra Nath Roy (B) & 19 T
(C) Debabrata Basu (C) ¥ '§
(D) None of the above m (D) I H @ i el
.5- A
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32. Who moved the Objective Resolution in the

u

£

w
w

Constituent Assembly of India 7
{A) Dr. B. R. Ambedkar (B) Vallabh Bhai Patel
(C) Mahatma Gandhi (D) Jawaharial Nehru

From the given answer figures, select the one in
which the question figure is hidden/embedded.

N =

= kK A FALS
@ £

ViV \
k AT __nu
AN .4\a

N ol
= : 1 o)

(A)

{€) &

Raman drove from home to another town
at the speed of 50 km/hr and on his return
journey, he drove at the speed of 45 km/hr
and took an hour longer to reach home. What
distance did he cover each way 7

(&) S00 km (B) 225 km

(€) 900 km (D) 450 km

Auto Manufacturer decided to exit India
recently is

() Fard (B) Telsa

(C) ¥ia (D) Ashoka Leyland

Select the correct mirror image of the given
figure, when the mirror s placed at line AB,

€

(8)

)

1

(D)
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Y fmmmi .
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% e s A @ 98 S S0, e
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k a.h.-...‘
...h..

5 NV
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(€)

bt

- R W A g e A 9 & fem so faedt o
nfa & g wrenn § ol e s aE # am
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i

37.

39.

g # o uz) S T | A I e

et g 7 we
() 500 fiFft (8) 225 fsht
(c) soo it (D) asofei

35. 372 fabm feed e ) @ v @ P @

© i fam?
(A) wrd
() fem

(8) ¥
(D) it S

36 A S = &A T vl i, 5o @
T AB T | 5

._E mux.uxm ,._
ka ® E.
B «[E]

(a)
(©

42,

L

__ - ©on heaung with formaldehyde
undergoes cross linking to form an infusible
solid mass called Bakelite

(B} Melamine

(D] Isoprene

(&) Novolac
(C) Butadiene

The ratio of third proportional to 12 and 30

and the mean proportional to 9 and 25 is

(A) 5:1 (8) 2:1

(C) 9:14 (D} 7:15

Laka Lajpat Rai University of Veterinar v and Animal
Sciences located at district of Haryana
(&) Hisar (B} Jind

(C) Karnal (D) Panipat

The foundation of Internet was laid in

(A} 1950 (B) 1989

(C} 1969 (D) 1998

41. Reserve Bank of India commenced its
aperation on
(A} April 1, 1944 (B) April 1, 1935
(C) April 1, 1931 (D} None of the above

identify the incorrect statement about

Supreme Court of India

(A} The decisions of the Supreme Court are
binding on all Courts

{B) It can not transfer Judges of High Courts.

(C) It can move cases from any Court to
Itself.

(D) It can transfer cases from one High Court
ta another.

A, B, C D, E and F are six members of a family.
One couple has parents and their children in the
family. A'ts the son of C and E is the daughter of A,
D is the daughter of F, who is the mather of E.
Which of the following pairs is the parents of
the couple 7

|A) CF {8) BC
(C) AF (D) AB
Ringworms are caused by

(A) Bacteria {B) Fungl
(C) Protozoa (D) Virus

37. whiffeerz o sE fats

2
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i Ffife w0k v wfed 3 vad dan s
2, fed e wed £

(a) ArETEE (8) FEmf

(C) =pTEr (0) g

12 3% 30 % et wareet st o st as &

e FHTATA A 8 '

(A) 5:1 (8) 2:1 )
(C) 9:14 (D) 7:15 HEZS

gﬁﬁﬁ?@mmﬂmdﬂgﬂmﬂé%
o faam fafioes Mm g 7

(A) fimm (8) e

(€] W= (D) yrdtm

$erdz $ita fra ad 8wl nd 7

(A) 1990 (B} 1389

(C) 1969 (D) 1998

Wt frared &% 3 s s e e e 7
(A) 1 3%, 1944 (B) 130, 1935

(C) 1389, 1931 (D) Iwdtwa # A =if AF
ST 3 WA AATTem i At 7 em w6

YEEH W |

(A) FET=a =raTer i fok wh =me w
arerET] & 8 |

(B) W8 == <Al & =yt % ZERe T
FWEAE |

(c) T fadt oft =gvare B W W59 e
AFFE |

(D) TE HTE 1 U I AR | gae
AR+ 5 ¢ |

A, B, C, D, E 3l F um wftam & 6 ve §1 wiEn §
o gy ¥ wrn-fim a1 # | A, cR R,
EASIEh D F R gh R newm

Forafefiam & & #a - gm zmfa & u-fem & 7
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o Eﬁﬂgn:mﬂniuﬂ ca.ﬁaﬂoq am:nsuwn_.“ = M“ﬂéq w3t wfen etw e d g 53. There is no All-Women Police Station in 53. P S
(@] energy and power electronics sector is nmn.m.mmaﬁw fafas o Frsfim o fefiem (A} Jammu an d Kashmir (B] Manipur - " R e IR AR |
b {A) SanRachna (8} SPARROW (A) ST (8) T (C) Daman and Diu (D) Meghalaya “nw Mu? m._.m“n_q (B) =g "
.m {C) SPONGE (D) ASPIRE (€ =t (D) R 54, ‘NOTA option is available to voters in which of se,. frsfafas 4 @ faa __uw nw e m
1% -5 Eﬁiﬁuen.u:uui EE.. rn.nﬂ.s“:ﬁ el Ayl a6 =4 2002 1 wrdTe Wi § = 11w e :._Hq ,Hﬂh_ﬁamwﬂ:nnﬁﬂuﬂu < 'S’ e e wm\u_...,. T & "
c : - yenanm: Faman ki u.. Lok Sabha elections o el ) <
) (A) Toprotect ntegrity of India (A) W Y S T 3 State Assembly elections e Sk ik
= Syt pas I ekt (8) wren-Fe W 7@ e B 6 A v it (A} 2:and 3 only 49). Lonly sl il 2]
= o thesr chilcren between 6- 14 yeans of age 6 — 14 T 377 A v e {C) 2 only (D) 1and 3 only ﬁ.n“ wmﬂ_w 3 (8) %=1
e () To develop the scientific temper and the E»u_w_ﬂﬁ:ﬁu_m. o ; R (D) %= 1 3t 3 <
> S of encuiry b ﬂﬂ._ﬂﬁ_ﬂ . 55. Who was the first empress in the world 7 s5. e & yum A R o 7 0
j= (D) To ssfeguard the public property : 1 {A) Cleopatra {8) Hatshepsut (4} Bt :
= : (D) sE=tE wufh 6w s v..\__. (C} Hammurabi (D) ShiHu Wang Ti (8) Bz 0
%) & Tnppescitesmetpefatkin2dminvtes | 47, FUE sER IR R 6 W 2a Rz A A R | ¥e 56 . i i el B (aa]
c ¥ two pipes g0 out of order how long will the | - 32 71 g = @t &, i a1 2 v . Which of the following social bonds connect | 55, Frafefian 38 248 awifa 2w v =1
- remaining pipes take to fill the tank ? A iR 7 . nanxssnazd TRz 7 . A
o] 1A} 40 min (B) 45 min ! (A) Commitment {8) Attachment (A) SFraga (8) E
+ 1 (a) 40fF= {B) 45 fmz (C) tnvolvement {D) All of the above (C) st 5 e
m. H{a] ubw min (D) 30 min (@ .EWF# (0) 30fme 57. In this guestion, two statements are given 57. TWEEAE Bl .ﬂua L
2 a4 Fesoamenae .ﬁm followed by two conclusions. Choose the Py £i3 ﬂdm*w»ﬂ,u.mkafiﬂdﬂ..mmmmm S
2 (&) Fishes (B) Cockroach < ﬂw%mﬂ__n _ conclusion(s) which best fit(s) iogically. Hﬁqﬁ Frasd g, A aféw mawimd | T
n (8) formam Statements : :
= R i 1) Doge (c) ¥ (D) (1) All horses are fishes. (1) w573, Tt £ 1 (&b
i 48. Durand Cup belongs to which sports ? a9 ToEw AR A wAAEAS 7 {2) Some birds are fishes. (2) 3 v, mufel £ -
i o {A) Foothail {8) Cricket (A) Tt (6) B2 Conclusions : ot ]
m {0 Basketbsil (D) Baseball (cy Eiizrcinl (D) AaTe - “ Some ?..ﬂ_.mm are bird. L ﬁ.%. ysh | G
S0 Which of the followsng is 3 sodial soence theory of | 50. Pt A B wi-m v amfa e g s SRC TS ATE et hogse, . g e, S 8
the copormuninies for sach indidusl to improve |~ B, Forel e =@ = (A) Only conclusion Il follows (a) F== freed 1 FEEm AR (&
s ; . IaE A T F P (8) Onl i
@ Wbl ity ofile? # e s AR (6 N s oo : (8) 37w Py g wean § o
0 P i) (B) Ufe chances () Fevcsfifiren {8) e 1 AwiETd (o) wo._znu_ﬂ_ﬂuwwn‘._aﬁﬂﬂo_iﬁi (G IR Pt TR S
Q {€) Opportunistic (D) Optimistic (C) seuEr (0) Sl o & and Il follow (D) Freed | ST sgEm e ¥ (7]
O 5L Rotenmoissevetth . & muscle fibres which taper at both ends 58 - s
= i?%sﬂhu:ﬁ% 51 % e S0 A A AR A 264 wE W (fusiform) and do not show striations are %&Mﬂ% &w& Rt T
are there in the class 7 & b, wo & e faemdT R 7 (A) Smooth muscle  (B) Cardiac muscle arfea! 3¢ Eaw # -
2 Al 31 B) 32 {C) Bath (A) and (8 (A) 73 ¥ (B) w=w i mwa
o 3 Ed (A) 31 (8) 32 % ; ; (B) (D) Noneof these () (A) 3% (8) 31 () TE 2 A O
E () 33 (D) 34 : - United Nations Publc Service Day is observed | - 59. T R T S e T e A 7 Qo
0p] @\_ﬁsﬂ-ﬂ&ﬂgfﬂﬁﬁ _..._a“.:ipmwn —
Q w0 # ol 38 w51 o zwim @ el 9 G 8 . . (8) October 22+ (A) BT (8] 22 3 o=
~ it ey -a..&:t (0) None of the above (€) 17 (o) SR IRFEIE =
E) e Eorea e e s viArlior U (oot || S5 %anﬂuﬁﬂ&ﬁﬂﬁﬂin&aﬂ o)
(B) TS wE _““““ ”“_r!n:.i! Diaz () !&mgﬁﬂ D
J i rh E
(€) TFERR T NEETE (e A A ) (© a:...q.ﬁa oty i (8) FiEamE
(D) s g T (v A ) ) i (c) svaferh gt
A, ma (D) a2
L A
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5 -3+ K 2= f good con MR .
L. ThesanesofA BCaeintheratio2:3:5 61.- ABCHT2:-3" #ﬁmﬁﬂmn 68, G«nniaa_amﬂg?ﬁ.c»:o:o onduct 68. ¥=3 FrEw f gide
i the increments of 15%, 10% and 20% are ' Iwm A wm 15%, wa_” v 20% #1 m_a_ﬁﬁﬂﬂ“ﬂ or after admaonition |5 COMES under gt sllr-ds mﬂ.ﬂ“ﬂ.«ﬂ.ﬂx % a1 frm
allowed respactvedy in their salaries, then b o =k i = s (A) Section 359 of Cr. P. C (a) s =, £ 9w 35
o) what wall be the new ratio of their salaries 7 : ST R (8) section 3600f Cr. P.C (8) dhamm. ) . 4w 360
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O 6. Whoisthe current Director General of WHO ? | 62 wwm & weeg wa. o, & wrfAiitrs e 8 7 9. Inflation reduces the 69, WEwhia wn w §
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= . .um._uaui:ninnl Camdad (BB =T o b | R 3w = I e A o g, A g e = . e = g Y
= ey Seigw mber. e 3wt d ; : u Lateral bud (A) o= v (8 L
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= 6. BCCstands for 3 s AN N 3 T - rasping organ for feeding, called WE . Y s e B, gmﬂqu_ﬁw
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_English Language

__91.  Fill in the blank with appropriate word from
the alternatives given below it.
is a gift from my father.

(B) This

(D) Which

(A) These
(C) Those

92.- Write the words denoting sounds made by
& the noun subjects from the alternatives given
below it.
Wings
(A) rumbles
(B) flutter
(C) clatter
(D) creak

93, - Give the meaning of the underlined idiomatic
expression from the alternatives given below
it. (Understanding the context from the
sentence).

His failure in life can be attributed

only to the black ox.
(A) to be at the highest point of glory and

fame
(B) becoming less powerful and acceptable
(C) strong determination
(D) misfortune

Choose the right meaning of the following
idiomatic expression from the alternatives
given below it.

With open arms.

(A) Protest strongly

(B) Pleased to welcome something

(C) Keep in safe distance

(D) Avoid being too friendly

Choose the right antonym of the given word.

CONCEITED
(A) Detailed
(B) Convex
(C) Modest
(D) Diverge
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foedt v
96 forw yrez ah wam HEAH g4 qUT A THY F aypy
7 s fam  ferg oft fapn ST R 7
(A) 94
(B) A
QS |Ir
(D) 38 & 1§ TEl

g7. ‘et @’ yerat F 9 &
(A) & ==
(8) @1 ST -
(C) 3@ 3aT1
(D) ¥ | =hig el

98- Forr fornaii 3 Ty 21 an1 <1 v & s 2,
34 @ed B

(A) T faa

(B) arevieh farar

(c) fammie fiman

(D) 9 & 1§ e

‘e’ v @ waETed e s B
(A) ¥

(B) gl

(C) s1=x

(D) ¥ & =ré 7

100.

e
i
1RO}

i

S T w7 S | o e e b
(A) ey &

(B) whefar=s =

(C) wraar=g =
(D) % & #ré
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